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£ 26, 18+15+3x9=7
(@A) 63 B) 99 -
(C) 3327 (D) 18 |
27, 15 w@nal %1 A 30 # | A e we

¥ 3 S e SITg, T 7 ST BT 7

The mean of 15 numbers is 30. If3is
added to each number, then what will be

the new mean ?
the new mean .

31, T v 1 de (3 #) T HI E
ﬁmﬁémé_mﬁrﬁaﬂﬁ"@%uﬂrﬁ%

Find the area (in cm?) of a rectangle
having length 12 ¢em and width 11 cm.

\AB) 13
D) 92

(A) 46 132

(@) 66

(A) 31 (B) 32 32. T S ARERAr §ed e oA T E
C) 33 D) 36
AC ®) P et 10-12|13-15|16-18|19-21|22-24
iy omi b bRl I %5
28, @%&3,6,?.?,5_}3.3%?@%%] et
—hid R e — , 3.8 | 15| 25 | 33
I - | 2 18°F [lo |8
Find the mode of 3, 4, 4,3,6, 7,7, 4, 3, | ; 3 .
3 ﬁmﬁf@ﬁﬁﬁ_ﬁﬁuaﬁﬁm
\Jm 3 (B) 4 B Hﬁﬁﬁﬁﬁ% ?
€ 6. D) .7 ok A cumulative frequency distribution is
o, 12, V%, V3,14 ,15, 1) ; given below :
29. 13,15,12,21, 10, 14, 12 i it 30 | | o 10-12[13-1516-18|19-2122-24
g | S A
Find the median of 13, 15, 12, 21, 10, 14, | [CU™UatVe) 1 o 1 ys [ 55 | 33
12, Sl P‘requenc}' ' :
(A) 12 B 13 Which one of the following class has
(C) 15 (D). 10 i maximum frequency ?
el | @ 1012 B) 13-15
30. i )
REd HHETg ﬁ'ﬂﬁ{ 1 TfEg {ﬁtﬂ ﬁ) I i (C) 16-18 \@ 19-21
it vt w18 0 4 | |
Finﬂfl the perimeter (in om) of a:n‘ _ -
Squilateral triangle Raving base 18 cm. - | 33. 2240 % UGS T AT 3T HIRAT |
AT 54 [ -
(B) 36 I Find the sum of facmrs?_f_ggi{_}___ﬂ
© 7 , I (A) 10890 (B) 11000
o O TR o otese | T 6096 ©) 80
¢ A
= ~Click Me
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The bar graph given below shows the
earning of a company (in million <) from
1991 to 1999. Read it and answer the
following questions correctly

)

f:M;‘J/ 2

i

D %-;vcey/@/

maﬁm%m%fﬂﬁﬂaﬁrm,
aﬂwﬁaqﬁas%'ﬁm‘%

The ratio of number of years, in which
earnings of a company are below the
average earning, to those in which the
earnings are above the average is
(A) 2:6

(B) 3:4 . 2
R '
(D) T & %13 7&i/None of these

1997-98 H a1 #Y ™ 1994-95 & fopet
T ?

The earning of company in 1997-98 was
how many times that in 1994-95 ?

(A) 12 B) 0.7 |
1.5 (D) 1.4 |

1996-97 ﬁmﬁmmml
T 3T1ad 317 w1 oRTsFT e Wit oft 7

The earnings of the company in 1996-97
were approximately what percent of the
average earning over the period under
review 7 -

(A) 90% (B)
(C) 115%

3130

P~

o

!
l
|

|

110%
125%

I e s s e — ———

37, 1997-98 & Sl A 3 # 1993-94 Eal
qe A wfemm gfg e 2
What was the percentage increase in
earning of the company in 1997-98 over
1993-94 7

(A) 80 “AB) 100
(C) 120 (D) 150
38, 1994-95 ¥ 1995-96 T Al H1 A H
e wfersra firrae = ot 7
What was the apprummata percentage
decline in the earning of the company
from- 1994- 95 to 1995-96 7
% (B) 10%
(€) 17% (D) 5%
30, ey 21-25 ST STCETAT B fha1 8 7
a1 0-5] 610 | 11-15 | 1620 |21-25
arETar | 8 | 12 | 15 12 | 20

What is the frequency dcnslty c:-f the
ioclass 214252 ¢
Class. -[-0-5+
Frequency

@4

11-15
S
(B) 3

D) 55 v

'2‘1-25
20

6-10.
12

16:-20
12

40.

Histogram is a type of

(A) Arithmetic line graph®. .
Geometric diagram
Frequency diagram s

(D) None of these

T BYS 1 fwe, gum smeR w sk
AT A e % € & BRI L S
FoTEEE/F  wad |

(A) QAT - (B) & M

(C) aman (D) dRT

The area of a triangle is of the

area of the parallelogram on the same
base and between the same parallels.

41."

&A) double (B) same as
S half (D) triple
B —y DD
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42, afs FBYst ABC, B W T & 3T AB = *45.

43.

JK) 2+ 45
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12 &t 3K AC = 13 &t | BC 710 IR |
(B) 6 aHt

() 78 (D) 8 &t

If triangle ABC, right angled at B and
AB = 12 cm and AC = 13 cm. Find the
BC.

(A) Scm (B) 6cm

(C) 7em (D) 8cm

e ——

feama wfieo 22 ~ 4x — 1 = 0 % 0 &,
The roots of quadratic equation
x2—4x—1=0are, e
B)  2.-2 O

(C) 5++2 (D) 5,-5

Ffia FH9=T HiEEe T 1,820 i g H A=l

o e o W s= =ifge el 38 |
30% T A TTH &I 7 & &
Amit sells his mobile at the rate of
3 1,820 and bears a loss of 30%. At what
rate should he sell his mobile so that he
gains a profit of 30% ?

(A) %2920 BY 73,380

(C) 3,650 (D) ¥3,820 -

T@ﬁﬂﬁﬁﬂﬁrﬁﬁﬁaﬁm&m%mj

U 30% # 7fé |
foreft, S Hig 1 19 Fa7 W 40% |
35 Preft | 379 3fg % w1e vge =1 F= |
e & a9 § T e e s |
27 : . |
Rahul‘.v: salary is 20% more than
Mnh.an s salary. Rahul got a raise of 30% |
ﬁ his sala::y while Mohan got a raise of
e hf; on his salary. Approximately by I
4 ha;;:;:,rcent 18 Rahul’s salary more than
% : lst:-alary after increment ? ,
© 28% i o JRC
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[%%é]maganmm%|

® 3 2.4
Find LCM of | =,—. = |-

8’67 |
(A) 1/186 (B) 16
(€) 1/168 - Jg) 12
2t "eati &1 HCF 11 2 3 3% LCM &

=1 & e 13 31T 17 & | S e
¥ BId der g,
The HCF of two numbers is 11 and other

two. factors of their LCM are 13 and 17.

The smaller of the two numbers is,

(A) 187 (B). 286

(&) 143 | (D) 121
aHERd B Rl ) ced e
8 &t 31T 6 Tt & 3TN THh! wp ya i
w79 5 |t B | gEd g < A o
(&t H) F7ra Shiforg |

The length of diagonals of parallelogram

is 8 cm and 6 cm respectively and the
measure of one of its side is 5 cm. Find
the approximate length of other side

(in cm).
B 5

(A) 4
(C) 6 (D) 7

FEGHS BT 9RET 120 T R i e @)
FHMIR Y1afl & o 5t g 12 it 2 |
WA T ke (812 ) 3 v |

The perimeter of rhombus is 120 ¢m and

‘the distance between any two parallel

sides is 12 cm. Find the area of rhombus

(i.'ﬂ cmz} 1&
(A) 180 By 360
(C) 720 (D) 1440
e SRR FEH 3T WSt e/ aref
___mmarE|
(A) =t (B) AT
(C) wR=R (D) % 3Tfy
4(1 grequency polygon is many sided
(A)  square rectang]
bar chart (D) dmedg;gure

A




#ﬁﬁﬁ%ﬁmwmﬁuﬂaﬁraﬁ.ﬁlss

géawﬁnﬁaﬂtwfamﬁ%ﬁm
dmer

(A) e T IETEH T |

(B) $u SeaTeH 1 ST we S |
() Tt (de) fdem By e ER | |
(D) WguuT AR @ud § 1 et |

How does -increased efficiency of fueEl

using new fechnologies benéfit humans
and the environment 7

(A)
(B)

Production of fuel will increase.

Cost of fuel
decrease. «

production  will

Amount of fuel in teservoirs will
increase. -

-(C)

Pollution and consumption will
decrease.

o

|

!

|

C) aﬁqﬁmaﬁ%mmuéﬁmwﬁ@iwéui
&9 (Feh) B wag HE I T BT I |

35 W e 8 9 A ¢ %
(A) T vl |
(©) ffY B %

Who has become one of the yﬂungestl
Indian mountaineers to summit the
Everest Base Camp (EBC) in the
Himalayan ranges in Nepal ? |

(A)
~B)
(C)
(D)

(B) ﬁwwﬁm
(D) Tt |3t

o

Roshni Sharma
Rhythm Mamania | |
Nidhi Tripathi
. Rajni Sethi |

f*ﬁf%mﬁﬂézﬂnﬁﬁwﬁ%ﬂﬁ%ﬁﬁ

Ages 6T FSIEAT Hl ?
(A) = (B) #Rd
C) =4 (D) afesem

Which country chaired the °‘BRICS
Foreign Ministers’ Meet in May 2022 ?

_,A) China (B) India
_ (C) Russia (D) Belgium

54, -gﬁmﬁaﬁuﬁéﬁrm%ﬁwm ?

(A T TS T
(®) iz
AC) mEremt et
(D) WTﬂﬂmﬁl‘E’ﬁ?

L]
(Of

Who called- Subhash Chandra Bose as
Desh Nayak ?

(A)
(B)
©
(D)

Lala Lajpat Ral '
Rabimﬁaliath Tag;:jré :
‘Mahatma Gandhi -
Bal Gangadhar Tilak

55. %Hﬁ?ma%f@wmaqﬁamﬁ ST
el e A fem a7 &

(A) wiR (B) “HWG
MO &R (D) T

The campaign against which princél}r

state was given " the code name
“Operation Polo™ ? s
(A) Kashmir  (B) Junagarh
(C) Hyderabad (D) Goa
DD
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56. wﬁﬁm%ﬁaaﬁ%muwﬁmlﬁﬂ

FHAG IS T
(A) & (B) derTHI
() fufeem (D) UGS

Which of the following states has lowest
number of Lok Sabha seats in India ?

(A) Goa (B) Telangana
&) Sikkim (D) Uttarakhand

57. EFT®HIT ®IF2E ?

(A) FATRIH HgH FEH

(B) . RIATE Hif gt

(C) Thided Hgd TEH

(D) FOFRIH B ZHEH

What is the full form of EFT ?
_AA) Electronic Funds Transfer .

(B)~ Efficient Foreign TFransfer

(C) Effective Funds Transfer
(D) Electronic Foreign Transfer -

58. mﬁqﬁwmwﬁﬁm%?

(A) wTEME (B) wET -

|

|
!
i

(C) <M (D) <hTeT -
Baffin Island is located in which country ? I
(A) ]331]131‘11:1:&‘= (B) USA

(C) Japan D) Canada

59. @ H TEAA ARG F HREE F feg
3= % aed Hied § 7

“AA) FTWE19  (B) e 20
(C) 3821 (D) ¥Tede 29

Freedom of press is implicit under whicp,
article of Constitution of India ?

(A) Article19  (B) Article20
(C) Article21 (D) Article 22
DD -

|
\
|
|
1
8

fopm et Ao & g AN
SIBRERIRIE IR 1

(A) e qeredis TEET ey~ -+
(B) @l geradta AT

(C) Seft erardfa ArsHT

(D) et derera s

 After which five year plan, “the Rolling
Plan” was implemented ?

\AA)
(B)
.. (©)
(D)

Fifth five year plan
Seventh five yes& plan
Fourth five year plan
Ninth five year plan

1942 1 ST ¥R BYE) ST Wit v T

o1, YA hl 9HTT 91 : '

(A) TS femfaem (B) @S 9de

(C) wFfafemsa (D) IS AEese

When Quit India Resolution was passed -
-in 1942, the Viceroy of India was :
AA) Lord Linlithgow

(B) Lord Wavell

,LQ} Lord Willingdon

(D) Lord Mountbatten

JO)  Fafirea
B.C. Roy Award is given in the field of
(A) Music
(C)  Medicine

(B) Journalism

(D) Environment

A



¢3. Pt § & widw w@fe ® e | 67. mmﬂmmﬁﬁm@%m
srive 1 T 3 i e frgia wnfire | Soef Fm AT TR 7

87 Uttar Pradesh shares its boundary with
Which of the following Indian how many -:m 7
Constitution articles contains Directive : &) 8
Principles of State Policy ? (A) 6 )
A) 36-51 (B) 30-49 | (€ 9 (D) 11
(C) 42-56 (D) 28-48 '
64, TETCHT TTET 3 T TR FE UE 997 | g8, smowcm A s 00 W
o ? : FmamfE B | |
(A) TE (B) W& '
(A) W UEH | (B) B
(C) H=THA (D) “9EAR |
Where did Mahatma Gandhi start the | (€ =78 %
Salt Satyagrah ? f Uttar Pradesh is based on
(A) Dandi (B) Surat Emmnjl}r? ) :
_E) Sabarmati (D) Pawnar (A) Fishing (B) Agriculture
65, Tl e Bt R gRT w7 (€) Textile (1Y). Minng
(A) TS T . . :
(B) wiE o= m 69. TEH TET TEE TIHT H @R A I
(C) e Foi - - R Tou & RIS TSI 8 7
(1)) wite faferm HE : Which is the lbngest National Highway
(A) Lord Canning :
(B) Lord Wavell ] (A) NH4
(C) Lord Curzon ] (B) NHS
(1) Lord William Bentinck () NH2
66. ﬁﬁﬂ W % W wra A (D) 37 § %13 921/None of these
ST e 3 for g dm wfnRedt 7 |
K] T E _
B) s B 70. Fr=fafea ¥ @ fre smgfe swofa
I:C} qﬁrqm @ﬂ . GHH@ ﬁtﬂ%ﬂﬁ Hﬂ& -ﬂi%{qﬁ % 7
(D) ¥ &t H o e § 9 | (A) 3 (B) U®
Most of India’s population during British ;
rule was dependent on which sector for a | (C) g (D) @m
hlmg I‘: 3 | Which of the following scheduled tribes
(A) Primary Sector I has the highest population in Uttar
(B) Secondary Sector Pradesh ?
(C) Tertiary Sector | E
(D) Nearly equally in all the above ] (A) Agaria ~(B) Tharu .
sectors | (C) Buksa (D) Baiga
9

DD
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71.. . fr=faflas § @ 9 91 SoSHEAS Yo,
| GRS eeifes AETETR & Feal § 7

(A) B > FereHETA
B) e ¥ e
(C) W TASHET
(D) S e

Which of the following straits connect
Medlterranaan Sea to the Atlantic Ocean ?

(A) Stralt of Hormuz
(B Strait of Gibraltar
(C)  Bosporus Strait’
By :
(D) Deover Strait o

\AA) Varanasi

c

(&) TRy

ﬁmﬁv‘fﬁaﬁ U H e I wew § wfedl %
srst %mﬁm?ﬂm% ?

(B) w@E&IH

(€) F"EH (D) s

Which of following is known as ‘City of
Temples’ in Uttar Pradesh ?

(B) Lucknow,,’
(C) Bamabanki =~ (D) Bhopal

ST §, LT, e i fova o 7

(A) SeEMEr (B) HHR

| (B g D) IR

In Uttar' Pradesh, 1T e
established in OG- Belig
(A) Allahabad, «(B) Kanpur

(C) Lucknow (D) Varangg;

DD
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74.

1. Tescawda  a.

fereferfiaa ) forerrd -
wlg R il
ST

2. vlfwremy b.
3. mf¥e "R EA G
4. wfrftaty - d
Match the following :

Dam
1. Govind -  a
. Ballabh Pant
Sagar Dam
Parichha Dam b.

Govind Sagar
Dam

g
S 7
&S e

River

Jamini River

Rihand River
Betwa River

o

Shahzad
River

4)

4. Jamini Dam d.

» @ 6

M b e d

75.

l€)

(B) a b c d
@ b a "3
(D) Q:ﬁ ¥ %15 T81/None of these

3T HEEL AT 1 Hy f{mwmﬁr%‘ ?
(A) 3-79 TeW A9 I

(B) el % SR wtuefy &1 3w -
(C) 3-7a 3=z @iel Fie

(D) HTeTTE wiiert o

How can ]m computer virus 7
(A) Sending e-mail messages x

(B) Using a laptop during the winter -
Opening e-mail attachments
Shopping online

(D)



_fA) PMGSY
(©) PMRDF (D) SGRY
(77) faiffiam & form o 7 st R 2

[, S

76, Trfefign # & #9 o Jrem wa & awfio | 78.

a5 s feemre 3 fore Rrediam 2 7 {

(A) diemsiuEETs |

(B) w=um }
®

(€) ursmEus waﬂ

(D) TESitaETs

Which of the following schemes are |-

responsible for rural road connectivity
“development in India ? )

(B) MGNREGA

7§ AfEE W-TEEd qied S g9 a6 |

qT 7 | \
(A) T gt fasma St Jreg -

[

|

|

- I
(C) T urtor Srrsfifeent feE . !
(D) Trio] JSHTR TS BT o |
Which of the following schemes’ aim ]I
|

|

|

|

|

|

|

|

|

|

1

—_—

was to empower women self-help model

across the country ?

(A) National Rural
Fellowship Scheme

Development |

(B) Deen Dayal Upadhyaya Grameen
Kaushalya Yojana

¥ :
(C) National Rural Livclihnog Mission

(D) Rural Employment
Scheme = '

Guarantee

Frferfiaa & & s o i 3 e e o

Trfior qRER % 996 H T faeg a9
100 ft % o H TR & Tt & S
I TR h1dl 0 F T & 7

(A) T T e B A

B) &7 @ FreEE AR S
RISE

(C) g metor SrSfiferhr forer

(D)  TTHTOT TUSHIR TTRET ST

Which of the following schemes under
which 100 days of employment is
guaranteed to any rural household adult
who- is willing to do unskilled manual
work in a finanecial year ?7

(A) National Rural Development
Fellowship Scheme 3

(B) Deen Dayal Upadhyaya Grameen
Kaushalya Yojana

(C) National Rural Livelihood Mission

Rural Employment

Guarantee
Scheme '

79. WRd TR $ Ffefgs & o =559 &
Ao Feanadt, g9, fwam @t
T % &9 foreft werre wem wd @ 7

(A) wEflemEr | (B)  wHuETH

(C) wousEE (D) w=em

Which of the following scheme of Indian
government provides financial help to
widows, elderly, people with disability in
form of pension ? L Roo

(A) SGRY (BY NSAP  og3 {3+~
(€ SAGY (D) MGNREGA

nn
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80, - Pyferfd & § g dismT %1 3899 HRA A | 83. Srefrfiae # B F H I I G0 A T

sqreon TV AT 1 ST SEH A o 7

——e

(A) g e stfwEm

(B)aﬂqamaammzrmrﬁmﬁﬁmﬁq]
i1

(C) T TrHor ST e

ee—

\{6} T Tt 3TETE AT (TrEir)

81.

ST AT & | R &Sl | g %

DD

was to provide housing to rural poor
people in India ?

(A)
(B)

Which of the following scheme’s aim |

Samagra Siksha Abhiyan

Deen Dayal Upadhyaya Grameen
Kaushalya Yojana »

(C)
D)

National Rural Livelihood Mjgsiﬂn

. Pradhan Mantri
(Grameen)

Aawas Yojana

WG TR # fetfes § & 29 @

m@rﬁaﬁwmm% 7

Which of the following scheme of Indian |
government proposes to mvent “the
migration of youth from the rural areas to
urban areas 7 .
(A) PURA=x

(C) SAGY

(B) NSAP -

@M?ei ETNAP ey

qeEdt TS SfEer gee T.ﬁ'{ yew
forerferfia & & o v g 2 2

(A) @ B) ST |
(C) <@ D) ﬂT:S %

Panchayati Raj Institute of Traj
established in which of
location in Uttar Pradesh 7

(A) Agra
(C) Lucknow

ning is 86
the fnllowing t

) Prayagraj |

(D) Meerut I

12

84.

D,

T TEA B 7
(A) IR W HMIS (STEe Tavs ga

)
(B) s-gfawn
© 3-fi=
(D) THAFETE
Which ‘of the following is e-Health
initiatives taken by Uttar Pradesh ?

JA) Uttar Pradesh  HMIS (Health
Management Information System)

(B) e-Suvidha
(C) e-Mitra
(D) None crf_' these
frferfiga o @ wia SXR F1 forg T
* waﬁ % Iweentaa =
(A) T Rien s s

AB) WA w9 vEsh g
(C) T mmfior el firem
(D) 99 "t AT ST (UTHTT)
Which of the following Indian
government scheme’s main aim was to
ensure survival of girl child ?
(A) Samagra Siksha Abhiyan >
(B) Beti Bachao Beti Padhao~—
(C) National Rural Livelihood Mission

(D} Pradhan Mantri Aawas Y{)jana
(Grameen)

UPRRDA. (7Tl T &g farl e
e 11 oft 7

When was UPRRDA (UP Rural Road
:evelupment Agency) established ?

) 2003 (B) 2007
&C) 2011 F(‘-D) 2017
- .memaﬁgﬁ
ﬁmﬂmen?

Swachh Bharat Mission Grameen Phase
2 was launched in which year 9

(A) 2[]'1[] (B) 2
0157~
.\_{_g} 2020 )y 2
'@Q 022

¥ A



g7. Trafafiga 4 @ fre deum =1 fawm vy
HoTedl % @ 3R IeeHal B TH
Tt i & waidra w1 3wt ginfaa
Gt ar iy <6t 18, g S O 3EH
HATYT ?
(A) SR 9eY iy gur fmm
(B) e ey umeitor feehre waid .
(C) ST UTHIv T THEft o
(D) TH IS TE |
Which of the following Institute’s
mission was of preserving the health and ]
productivity of land reSources in- a
sustainable manner, and to  protect,

rehabilitate, and regenerate all potentially
cultivable lands ?

Uttar Pradesh Bhumi Sudhar Nigam
(B) Uttar Pradesh Rural Development
Agency ;
(C) Uttar Pradesh Grameen Road Agency
(D). None of these

fy g Frm % Ted Ll THTETE #
TS 7 :

(C) et fies T=5a |

(D) % s whet ;

What is the full form of FFS established

under Bhumi Sudhar Nigam ?

(A) Foreign Field School [~ S Ll
Farmer Field School

(C) Fishery Field School | >.

(D) Fresh Field School

89, g e i frefifga § ¥ FH @ I
w3t et refior TR <t afeRed Al & 7
(A) - SUWH SH-tF AT ¥
(B) 9HTHH} - R Ao 7

(D) SUFw srrare A5 7
Which of the following scheme of

Central government envisages of smoke
e ia ?

Pradhan Mantri Jan-Dhan Yojana
Pradhan Mantri Jan-Arogya Yojana
Pradhan Mantri Ujjwala Yojana
Pradhan Mantri Aawas Yojana

|
i
|
|
|
|
NEYT T IS TS I
|
|
|
|
|
|

90. Tfior &5 & areferawn 3R ghATd gl
aﬁwa&ﬁ%ﬁm%ﬂﬁﬁﬂ%ﬁﬁ'ﬂﬁ

3 e s T o 7

(A) I AT A
(B) qgﬁuamﬁlﬁ‘riﬁﬁﬁ'lr-
(C) Tﬂéﬂﬁwﬁmwaﬁm,f

(D) T AHETE

Which of the following schemes was
launched in 2021 to strengthen the
economy and infrastructure of rural areas ?

k&) UP Matrubhumi Yojana
(B) UP Sahbhagita Yojana

(C) UP Sant Ravidas
Assistance Yojana

Education

None of these

(D)

o1, freferfign # & # @t FroAT oAt 3
sEETys A9 e % fifed & gt
£ Tum 3R 999, TIE IR

Which of the following 'schemes is: for
Prevention of Trafficking and Rescue,
Rehabilitation and Re-integration of
Victims of Trafficking and Commercial
Sexual Exploitation ?

- (A)

(B)
©)
D).

Ujjwala Scheme 5+
Aajeevika Scheme
_ Usttad Scheme »>=

None of these

To join us on telegram -Click Me



92. ﬁtﬂ%{ﬁ‘aﬁﬁﬁaﬂﬁwﬁa‘rﬂmsﬂﬁﬁmﬁ

93.

DD |

e L A L S e AL LU L
Waﬁmﬂﬁﬂiﬂ%ﬁm%?
(A) ISl AT
(B) el FreT
ey ST A '
(D) T AL TE

AC)

AR wenadl/Rredi & @ 3i

Which of the following schemes is to
conserve traditional arts/crafts of our
country and for building capacity of
traditional  artisans. and  craftsmen
belonging to minority communities ?

(A) Ujjwala Scheme I 1

(B) Aajeevika Scheme
Usttad Scheme
(D) None of these

Frefofen § 3 2 d G g |

ﬂ%ﬁﬁiﬁﬁﬁ%@aﬁ%mﬁmm
%m%mﬂnﬁm%yﬁﬁi
mmmm%?

(A) 8 (TREAD)FWAT . - _.._i

(B) TR dromm

(C) e T
(D) dremgsiid

Which of the following schemies is to

provide for economic empowerment of \

women through development of their
entrepreneurial

activities 7

skills in ‘non-farming

«{&XJ TREAD Scheme

(C) Usttad Scheme

}
(B) SFURTI Scheme -
I
(D) PMEGPe |

To join us on telegram -Click Me

96.
' | e aha  wghe, o e T

o4, Preferftaa i & @ | e /e fawm

sroffaemT-uga AT fimm =
HYTerdT & 7

(A) g = AR AU de
(B) o ferehTe T

(C) agafnwmw

(D) cATEsa SR ARER HeAT HEres

Which of the following Ministry/Nodal
Dept. _handles Aajeevika — National
“Livelihood Mission ?

(&) Ministry = of Social Justice &

e

Empowerment

Ministry of Rural Development
Ministry of Small and Medium
Enterprises

(D) Ministry .of Health and Family
Welfare .

) dR wiEElfeees R 99 FeET % q8d Bl

aﬂttﬂmﬁmﬂ#mﬁm%

FeATe Lsoom{zmﬁ)mﬁrﬁw

FRUFR AR TEE?

Under the Solar Photovoltaic Irrigation
Pump Scheme, small and marginal
farmers are eligible for how much grant
for 1800 watt(2 HP) surfacé solar pump,

~ besides Central Government subsidy ?
. (A) 15%= ﬁ:,.
~B)

30%
(C) 45% i
(D) FHHHIE TE-FffNone of these

ﬁmﬂiﬁ?ﬂ%aﬁa,aﬂﬁmmﬂ

g, Blow e yw w@ w g
TEHYYA U IS HT A 2 |

Under the Kanya Vidya' Dhan Scheme,
girls of financially weak families who
are high school passout are provided

with ___ one time  amount for
Pursuing higher education.

(A) 10000

(B) 15000

€T 30000

(D) ¥ & 1 T/None of these

1‘;‘)‘



97. mmﬁmﬁﬁmﬁf@aﬁ@m 99,

U ¥ 5 e a1 Hrem et fwm
AT /et fawm gro Frefr e o =
JURL IR
Ve 1 3 wehipa et o S sy 1%
A maﬁmaﬁmﬁﬁarﬁ% ?
(A)  wwe 3k aiar weam s v Ve3s
(B) ﬁmaﬁraﬁmw (A) @ 3R fEr Fem tarey
C I .
(©) Hmmﬂﬁaﬁt@aw Eﬁ | (B) et 3R wrowd waTerd
D) fenwem d -' : :
Sﬁachh Bharat Mission is handled by ok p sl :
Eell::ih'?ﬂf the following Ministry/Nodal | ~ M) e v are Riesrg samem
(A) Ministry of Health & Famil I Which of the fa]inwmg Ministry or
Welfaro 4 Nodal Dept. ha
p s primary respunmblhty
B) Ministry of Drmkmg Water and for the implementation of the Integrated
Sanitation Child Development Secmces Scheme at/
(C) Ministry- of Yuuth Affairs and the centre ?
Sports : (A) Mi try of Health & F
Mi ; : nis 0 ealt amﬂy
(D) Ministry of Education ; Welfare _
98, Prfen # 3w w wrbw ey | (B Ministy of Drinking Watet and .
: T % ﬁ"'"i P =2y Samtatmn -
“ﬁﬁ?ﬁﬂﬁmﬁﬂﬂﬁﬁ - %‘F&ml (C) 'Mmlsu'y of Youth Affairs and
R, T T, 7w e, wmﬁr' R |
Eﬁmmm% 7 S T {D) MIIIIStI'}' {’J'f WDH‘IED & Child -
(A) am fﬁﬁﬁfﬂw f P DeveIupm-:-:nt :
(B) Reiude /¥ o] W rdwy | ' '
S a1 Ffirfe | WA g e T e e & ﬁé‘m 3R
(D) THHTT. ; T it # 5 ™ &1 | I e % e i
Which of the follnwmg pmgrami ! %_1%!_'153_?
provides free to & fro transports, free - : y
drugs, free diagnostics, free blood and Which of the following scheme is for
free diet to pregnant women who come Survey of Villages Abadi and Mapping
for-delivery in public health institutions ? w:ﬁWhnolagy in “Village -
JSSK/Janani +» Shishu  Suraksha Areas by Ministry of Panchayat Raj'?
Karyakram ' X (A) SVAMITRA
(B) RBSK/Rashtriya Bal Swasthya |
' Karyakram (B) eMITRA

(C) VHSNC/ Village Health Sanitation’ I ) ’Z_ﬁc—ﬁ{-
& Nutrition Committee < I (€] SVAMITVA )

(D) MCH _ ! (D) eSurvey

DD
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